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{'02010': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 18.85}, '©2001': {'ChildCpus': [8],
'ChildMemory': [6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 8.04}, '51001': {'ChildCpus': [8, 8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784,
6784, 6784, 6784, 6784], 'DetectedCpus’': 56, 'DetectedMemory': 53728, 'TotalCondorLoadAvg': 48.36}, '@3001': {'ChildCpus': [8], 'ChildMemory': [6784], 'DetectedCpus’:
16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 8.04}, '12001': {'ChildCpus': [8], 'ChildMemory': [6784], 'DetectedCpus': 16, 'DetectedMemory': 15283,
'TotalCondorLoadAvg': 8.04}, '12010': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 9.06},
'02002': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 22.08}, '0©3010': {'ChildCpus': [8, 8],
"ChildMemory': [6784, 6784], 'DetectedCpus’: 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 22.11}, '0202@': {'ChildCpus': [8, 8], ‘[ChildMemory': [6784, 6784],
'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 22.51}, '02011': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16,
'DetectedMemory’: 15283, 'TotalCondorlLoadAvg': 22.07}, '@4001': {'ChildCpus': [8], 'ChildMemory': [6784], 'DetectedCpus': 16, 'DetectedMemory': 15283,
'TotalCondorLoadAvg': 8.04}, '22001': {'ChildCpus': [8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784], 'DetectedCpus’': 48, 'DetectedMemory’': 46030,
'TotalCondorLoadAvg': 40.23}, '12011': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 21.54},
'02021': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 21.97}, '02030': {'ChildCpus': [8, 8],
'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 21.24}, '51020': {'ChildCpus': [8, 8, 8, 8, 8, 8, 8], 'ChildMemory':
[6784, 6784, 6784, 6784, 6784, 6784, 6784], 'DetectedCpus’': 56, 'DetectedMemory': 53728, 'TotalCondorLoadAvg': 82.07}, '13010': {'ChildCpus': [8, 8], 'ChildMemory":
[6784, 4608], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 20.74}, '03020': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16,
'DetectedMemory’: 15283, 'TotalCondorLoadAvg': 21.78}, '©3002': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283,
'TotalCondorLoadAvg': 20.82}, '02003': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 21.66},
'03011': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 4608], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 21.2}, '©4010': {'ChildCpus': [8, 8],
'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 22.55}, '12020': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784],
'DetectedCpus’': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 22.22}, '13001': {'ChildCpus': [8], 'ChildMemory': [6784], 'DetectedCpus': 16, 'DetectedMemory":
15283, 'TotalCondorlLoadAvg': 8.08}, '©2012': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg':
22.4}, '22010': {'ChildCpus': [8, 8, 8, 8, 8, 8], 'ChildMemory': [6784, 4608, 6784, 6784, 6784, 6784], 'DetectedCpus': 48, 'DetectedMemory': 46030,
'TotalCondorLoadAvg': 40.59}, '61010': {'ChildCpus': [8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784], 'DetectedCpus': 4@, 'DetectedMemory': 46031,
'TotalCondorLoadAvg': 51.68}, '61001': {'ChildCpus': [8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784], 'DetectedCpus': 40, 'DetectedMemory': 46031,
'TotalCondorLoadAvg': 32.19}, '52001': {'ChildCpus': [8, 8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784, 6784], 'DetectedCpus': 56, 'DetectedMemory’:
53728, 'TotalCondorlLoadAvg': 41.29}, '12002': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg':
23.03}, '13020': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 21.4}, '12030': {'ChildCpus': [8,
8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 20.92}, '62001': {'ChildCpus': [8, 8, 8, 8], 'ChildMemory': [6784,
6784, 4608, 6784], 'DetectedCpus': 40, 'DetectedMemory': 46031, 'TotalCondorLoadAvg': 32.17}, '12021': {'ChildCpus’': [8, 8], 'ChildMemory': [6784, 6784],
'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 23.59}, '13011': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16,
'DetectedMemory’: 15283, 'TotalCondorLoadAvg': 20.66}, '13002': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283,
'TotalCondorLoadAvg': 22.52}, '52020': {'ChildCpus': [8, 8, 8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784, 4608, 6784], 'DetectedCpus': 56,
'DetectedMemory’: 53728, 'TotalCondorLoadAvg': 40.83}, '04002': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283,
'TotalCondorLoadAvg': 22.15}, '©2031': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 22.5},
'03012': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 21.54}, '51030': {'ChildCpus': [8, 8, 8,
8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784, 6784, 6784], 'DetectedCpus': 56, 'DetectedMemory': 53728, 'TotalCondorLoadAvg': 52.4}, '03030': {'ChildCpus':
[8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 20.98}, '02022': {'ChildCpus': [8, 8], 'ChildMemory': [6784,
6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 22.14}, '12003': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16,
'DetectedMemory’: 15283, 'TotalCondorLoadAvg': 21.34}, '02013': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283,
'TotalCondorLoadAvg': 21.02}, '04020': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 21.55},
'03003': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 21.33}, '03021': {'ChildCpus': [8, 8],
'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283, 'TotalCondorLoadAvg': 21.62}, '04011': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784],
'DetectedCpus’': 16, 'DetectedMemory': 15283, 'TotalCondorlLoadAvg': 22.23}, '02004': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16,
'DetectedMemory’: 15283, 'TotalCondorLoadAvg': 21.95}, '12012': {'ChildCpus': [8, 8], 'ChildMemory': [6784, 6784], 'DetectedCpus': 16, 'DetectedMemory': 15283,
'TotalCondorLoadAvg': 21.25}, '71010': {'ChildCpus': [8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784], 'DetectedCpus': 4@, 'DetectedMemory': 46031,
'TotalCondorLoadAvg': 31.19}, '6101l1': {'ChildCpus': [8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784], 'DetectedCpus': 4@, 'DetectedMemory’': 46031,
'TotalCondorLoadAvg': 51.21}, '23001': {'ChildCpus': [8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784], 'DetectedCpus': 48, 'DetectedMemory': 46030,
'TotalCondorLoadAvg': 40.3}, '22002': {'ChildCpus': [8, 8, 8, 8, 8, 8], 'ChildMemory': [6784, 6784, 6784, 6784, 6784, 6784], 'DetectedCpus': 48, 'DetectedMemory’:
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